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Aftab

Aftab
Start with the summary fog of the answer as an introduction 

Aftab

Aftab

Aftab
Try to add the Arabic of quranic Ayat 
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headings and subﬁ_r eadings
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Aftab
Attempt the differences by giving headings and subheadings 
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Work on the structure. Use headings
and also add rgference_s
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Short answer. A 20 marks answerl '
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and be on 7-9 pages

Explain these differences in detalil

Endthe answer with conciusion
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Aftab
Work on the structure. Use headings and also add references 

Aftab
Short answer. A 20 marks answer should have around 15 subheadings and be on 7-9 pages

Explain these differences in detail 

Aftab
End the answer with conclusion 
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